EAGRAROBREERT — 2 N— ABISH —F 202013250 (£) 1E=ER8H

Eile=re cmos5x v5R4mE (BE) UgEl o7 EEEme
[A&£] 1 7 15,000,000 § 2 7% :6,000,000 § 3 3 :3,800,000 . 4 3% :2,300,000 ™ . 5 3 :1,500,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N . A Tazg 2:28. 2-2-2- . . FHEZE (FER)
118l10| 71 vt [B] IR (_8)4 oSy s :1356) BRI LY
LT =TANT N BV T LIN= (B) #B3—-FKL—->ya3>AqE77
= = R 128. —6-6- . . EZRF— (ER)
ol 11| 7r=n1257 5 i (21218/26) 6-6-6-6 | 35.8|102.4| 6 (i?g) FRE
R:bh—t2HhvLRY B:4—KU—Q-—X NS
f= e = it 4 | C. bA—U 2:29.6 5-5-5-4 | 37.0| 93.1 | 1 492 | WIS (RR)
3l7/8|/77~ KT — * 56.0 6) (-4) A) $>57-L—->>9
R:FA—TANT N BT T RRAL Rt
R B E AT : -8-10- BREBFZ (EH)
4 4|Vamva—n—k i o4 kel 2(72?:? 8-8-10-10 | 36.1| 92.6 | 9 go) s
R:O—XF>J4 L B:¥39a—ak3 E
HS—2 > 4| S TH-U— 2:29.7 3-3-3-3 |37.2] 92.3 | 2 | 506 |WEEN (FR)
5177 55.0 (v¥) (+g) | EETHE
LN—=vI34 B:HAT1*7 J—=HrTp—L
. = Jlz|ERE :30. 2 . . fERB— (EX)
6lsls|g1F3y 7O # o7 M s 2(33?)2 3-3-3-4 |37.7|88.0 | 7 (5+142) e
R:FHhYTTIRE BUANRT T HEEERS
: 4 6 | JIERHHE 2:30.2 9-8-7-7 |37.2| 87.5 | 3 456 | BEFE (ER)
7 K& 6 7AR Kyt 54.0 (7E) (+14) (B) ¥+Oy bT7—L
RF4—TALNT N BiYryd—T—X b =Ty —I
F = 4 5 | WIRE 2:30.8 7-7-8-8 | 37.6| 82.3 | 10 492 | BIRIE (ER)
8l 3 T—F28—7 53.0 (3 1/2) (0) BigEk
Lid—WRKTPU2—b BV Tr—3IX b J—HLTp—Lh
. o7 | FIEEZ 2:31.0 9-10-8-8 | 37.7| 80.6 | 8 464 | KRS (EH)
9 g| TIV7+—2> 540 (1 1/2) (-a) H FAssociation
R:FHh¥<v7128 B:¥TI-TF4+>2X EESS
i =, S : 6 | EALEX 2:31.2 1-1-1-2 | 38.9| 80.4 | 4 528 | BE (E®)
1wl 2| 77v7>z1F [B] # 55.0 (1 1/2) 4y | @R Ju=EFo—%5TLy KR
RARY WY 4= BiUA—F A — EERSE ¢
@ 21 L
£y 48.7-36.1
NA>&4 L |12.9-10.9-11.2-13.0-13.0-12.8-13.1-12.8-12.6-11.9-11.6-12.6
@ I—F—@EBIERL
| S=7r= 2-10-(5,7)8,1-3-4(9,6)
23—+— |[2,10-(5,7)8,1,3-(4,6)9
g =5r= 2,10(5,7)8,1,6(3,9)4
41—F— (2,¥10)7(5,8)1,6(3,9)4
[ RN
B 10 1,070 794K 1-10 2,000/ & 1-8 11,560M &R 1-8-10 5,890M
# B 10 210H 8-10 4108 B E 1-10 11,8108 3EE 10-1-8 71,810
1 370H 1-8 930M B H 10-1 25,480H
8 110

ABRICOVTHRTEEERROODE, THEB LS,




